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Descriptive Statistic
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ID Midterm(100) Final(100)
1 73 75
2 94 65
3 65 76
4 76 60
5 71 71
6 98 87
7 67 59
8 70 87
9 81 79

10 78 83
11 46 90
12 78 93
13 75 55
14 50 70
15 70 85
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Variance

O O O O

%] a Q€ >
FUUszENTNMILUTNG

NSHIIW

1. IasTalWs Lab03_5XXXXXXXX.sci  (Taulfidn1s_swavindnun.sci)
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midterm = [73,94,65,76,71,98,67,70,81,78,46,78,75,50,70];
final [75,65,76,60,71,87,59,87,79,83,90,93,55,70,85];
score = [midterm; final]';

// calculating mean

// f£ill your code after this line using variable ‘score’
!/
minimum =

maximum =

means =

medians =

sd =

var =

cv =

// ============================================================

// Done. no need to worry now.

// DO NOT EDIT
// displaying some nice stuffs

printf ("min : midterm=%6.2f final=%6.2f\n",minimum) ;
printf ("max : midterm=%6.2f final=%6.2f\n",maximum) ;
printf ("mean : midterm=%6.2f final=%6.2f\n",means);
printf ("median: midterm=%6.2f final=%6.2f\n",medians) ;
printf ("sd : midterm=%6.2f final=%6.2f\n",sd);
printf ("var : midterm=%6.2f final=%6.2f\n",var):;
printf ("cv : midterm=%6.2f final=%6.2f\n",cv);
if cv(l) > cv(2) then

printf ("==== Midterm is more dispersed ====");
else

printf ("==== Final is more dispersed ====");

end




